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ENGLISH VERSION

Instructions : (1) As per the instruction no. 1 of page no. 1.
(2) Figures to the right side indicates full marks of
the questions.
(3) Necessary calculation as a part of your answer.

Question - [{1) Work out the selling price of the product from the 10
following information :

Investments : Fixed assets Rs. 5,00.000

Investments : working capital Rs.5,00,000

Budgeted volume : 4,00,000 units.

Fixed costs Rs. 8,00,000

Desired return 28% per annum,

Variable cost per unit Rs.16.
(2)  Ami Lid. faces a slack business and demand for it's product is
declining. Consequently , company's earning and it's dividend also are
declining at the rate of 5% per annum. 1f dividend paid during last year was
Rs.15 and the required rate of return is 18% , what will be current market
price of equity share ?

Question -2 A company produces two products 'P'and ', The budget for 13
the next vear is a5 under :- -
Product-P Product—0Q)
Budgeted produciion 40,000 80,060
and sale (Units)
Selling price Rs/unit 25 30
Total cost Rs/unit 20 40
Machine Hours/unit 2 1
Maximum sales HUGUU 1,008,000
potential {units)

The fixed expenses are cstimated at Rs. 9.60.000. The company
absorbs {ixed overheads on the basis of machine hours which are fully
utilised by the budgeted production.

When the budget was discussed. the Managing Director stated that the
product mix should be altered 1o yield optimum profit.

The Marketing Director suggested that he could infroduce a new
product 'C', each unit of which takes 1.5 mackhine hours, However capital
outlay of Rs. 2,00,000 would be needed. and additional fixed overheads of
Rs. 60,000 would be incurred. ‘T he variable cost of product 'C' was estimated
at Rs. 21 per unit.
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Required :-

(1) Profitability statement as per budget.

(2)  Revise the product mix based on data given 'P' or "(Q' to yield
optimum profit.

(3) The company decides to discontinue either product 'P' or Q'
whichever is giving lower profit and proposes to substitute product 'C'
instead. Fix selling price of product 'C' in such a way as to yield 15%
return on additional capital employed besides maintaining the same
overall profit as envisaged in (2) above.

OR
Question-2(A) Following information is available of a product:- 13
Direct material 70% of total cost
Direct labour 20% of total cost
Over heads 10% of total cost
Sales price Rs. 90,000

It is estimated that the rate of material and fabour will increase
at 20% and 10% in the following year, by that the present profit will
go down by 20%. What will be the price for the next year to maintain
the present profit margin 7
(B) Ratan Ltd. wants to launch a product in the market with
following estimates:-

Sales price {per unit) Demand in units (in thousand)
30.00 400
31.50 380
33.00 360
34,50 340
36.00 315
37.50 280
39.00 240

Cost details :-

Direct material | Rs.12.00 per unit
Direct labour Rs. 3.00 per unit
Variable overhead ‘Rs. 3.00 per unit
Sales expenses 10% of sales
Fixed production cost Rs. 14,40,000
Administrative expenses Rs. 1 0,80,000
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Determine the sales price to earn maximum profit.

Question-3 The balance sheet of the ABC Ltd. as on 31/3/2013 is as
under :-

Liabilities Rs | Assets Rs |
Equity capital{each of 2,00,000 Net fixed assets 8,00,000
Rs.10) i
Reserves 1,60,000 . Current assets 5,060,000
14% preference shares 60,000 |
15% Debentures 5,00,000 N
20% Term loan 2,80,000
Current liabilities 1,00,000

13,00,000 . 13,00,000

Additional information :-
(1)  The average market price of equity shares is Rs.30. The expected
dividend in the next year is 24%. The dividend grows at 11%.
(2)  The tax bracket of the company is 40%,
(3)  The cost of retained carning is 2% less than cost of equity capital,

Answer the following :-
(1) Calculate the cost of equity under dividend growth model.
(2)  Calculate the weighted average cost of capital of the company using
the book value weights.

OR |

Question-3 The tollowing intormation has been extracted from the
Balance-Sheet of Anu Ltd. as on 31/3/2-13.

Rs. in lakhs.
Equity share capital 200
12% Debentures 200
18% Term loan 600
1.000

{a)  Determine the weighted average cost of capital of the company. It had
been paying dividends at a consistent rate ot 20% p.a.

(b)  What difference will it make if the current market price of the Rs.100
share is Rs. 160.

(c¢)  Determine the effect of income-tax on the cost of capital under both
assumptions. Income tax rate is $6%.
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Question-4
(1)
(2)
(3)
(4)
(5)
(6)
(7)
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Write short notes ( any three)

Shut down decision

Cost of retained earning

Factors afiecting on product pricing
Objectives of portfolio management
Investment and speculation
Conversion cost pricing

Marginal cost of capital
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